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Update

e Last Week

* Practiced with Autodesk Inventor
* Replicated Josh’s example

* Pion Data Fitting
* Plotted all raw data

* This Week
* Find better fits for pion data



-~ Dependence at Q* = 1.6, t=0.14

—— Best Fit Line {y = 57.828x - 7.354){R? =0.996)

Min Slope (y = 46.679x% - 16.539)
= = Max Slope (v = 58.485x - 21.717)
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(Q2%)° Dependence at W=2.2, t=0.08

Q? Dependence at W=2.2, t=0.08

—— Best Fit Line (y = -12.609x + 23.881)(R? = 0.7721)
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25l ® —— Best Fit Line (y = -0.034x + 2.651)(R*=0.903)
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Q* Dependence at W=2.2,t=0.5
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—— Best Fit Line (y = 2.156x - 7.397){R*=1)

Min Slope {y = 1.950x - 6.683)
= = Max Slope [y = 2.361x - 8.111)
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